Geometry Chapter 4 Practice Test 2
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Consider each of the triangles below. Circle all that apply to the triangle.

Triangle 1 Triangle 2 Triangle 3 Triangle 4 Triangle 5
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1. Acute Obtuse Right Scalene Isosceles Equilateral
2. Acute Obtuse Right Scalene Isosceles Equilateral
3. Acute Obtuse Right Scalene Isosceles Equilateral
4. Acute Obtuse Right Scalene Isosceles Equilateral
5. Acute Obtuse Right Scalene Isosceles Equilateral
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AABC above is an isosceles triangle with AB =~ AC. AOYZ is an equilateral triangle.

6. Whatis AB?

7. Whatis AC?

8. Whatis BC?

9. If the perimeter of AOYZ is 36 cm, what is the value of n?

Given that ANOP = ABXD, complete the statements below.
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In figure 1 above, what postulate would be used to prove that AABD = AACD
if AC= AB and CD=BD?

In figure 2 above, AE and BD bisect each other at point C.
What postulate would be used to prove that AABC = AEDC ?

In figure 3 above, what additional information is needed to prove
that AMNL is congruent to APNO by ASA?

In figure 4 above, AX = BX and CX = DX.
What postulate would be used to prove that AAXC = ABXD ?

In figure 5 above, what postulate would be used to prove that the
triangles are congruent?

In figure 6 above, which statement below does NOT necessarily

describe the triangles shown if ADEF = AFGH ?

A. AEDF = AGFH C. AEFD = AGHF

B. AFED = AHGF D. AFDE = AFHG

What would be the slope of the line perpendicular to y = -5x — 6?

What would be the slope of the line parallel to y = -2x — 6?

Give the equation of the line parallel to 2x — 2y = 8 and that goes through (1, 5)

Give the equation of the line that goes through (-2, 8) and is perpendicular to y = 2x — 1.



Decide whether you can use SSS, ASA, AAS, SAS, or HL to prove that the given triangles are congruent. If
you can’t prove congruency, write NP for “not possible.”
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